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Percent Error Practice


Calculate the percent error for each example. Show all work, 3 sig figs, NO naked numbers!

1. The literature value of the atomic mass of an isotope of nickel is 57.9 g/mol. If a laboratory experimenter determined the mass to be 59.6 g/mol, what is the percent error?

2. The mass of one mole of oxygen gas is determined in an experiment to be 31.4 g/mol.  Calculate the percent error, given that the literature value for this mass is 32.0 g/mol.

3. At 20( C, the solubility of potassium chloride is actually 34.7 grams per 100 cm3 water.  A laboratory experiment yielded 30.3 grams per 100 cm3 water at the value.  What is the percent error?

4. The solubility product constant for silver oxide at 25(C is actually 1.51 x 10-8.  An experimental value obtained in a lab was 1.47 x 10-8.  What is the percent error?

5. A student calculates the density of a rock to be 2.2 g/ml and the accepted value is 2.7 g/ml. What is the student’s percent error? 

6. A student determines the volume of a cubic crystal to be 7.6 cubic centimeters. The correct volume of the crystal is 7.5 cubic centimeters. Find the students percent error.

7. A student measures the volume of a piece of rock to be 25 grams and the accepted value is 19 grams. What is the Percent error? 

8. A student determined the volume of an object to be 8.6 cm. What was her percentage error if the correct volume of the object is 8.0 cm? 

9. What would the percentage error be if a person predicted that there were 38 jelly beans in a container, but when they were counted, it was found that there were actually 40 beans in the bottle?

